
Video worksheet – thermochemical equations – bond energies (year 10) 

 

1. Calculate an estimated value for the enthalpy change 

(ΔH) of the following combustion reaction based on the 

bond energies given in the table on the right. 

CH4(g) + 2O2(g) → CO2(g) + 2H2O(l) 

 

 

 

 

 

 

 

2. Calculate an estimated value for the enthalpy change 

(ΔH) of the following reaction based on the bond 

energies given in the table on the right. 

2HCl(g) → Cl2(g) + H2(g) 

 

 

 

 

 

 

 

3. Calculate an estimated value for the enthalpy change (ΔH) of the following combustion 

reaction based on the bond energies given in the table on the right. 

2C2H6(g) + 7O2(g) → 4CO2(g) + 6H2O(l) 

 

 

 

 

 

 

 

 

 

4. Calculate an estimated value for the enthalpy change (ΔH) of the complete combustion 

reaction of ethene (C2H4) in oxygen gas using the bond energies given in the table on the 

right. 

 

 

  


